1. PrAacTICE MIDTERM 1

Problem 1. At what value(s) of = is the following function discontinuous?
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Problem 2. Find the derivative of f(z) = V22 ++ 1 using the limit definition
of derivative.
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Problem 3. Prove the following product rule for derivatives
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Problem 4. What is the slope of the tangent line to f{z) = (z*){(e*) at z = 27
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Problem 5. Find the value of the limit.
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Problem 6. Iind the value of the limit.
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Problem 7. Find values a and b such that f(z) is diffcrentiable everywhere
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Problem 8. Find all points on the graph of f(x} = 2% — 22 where the tangent
line has slope 1.
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Problem 9. Evaluate the following Hmit.
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